This question paper contains 3 printed pages

6589

Yowr Roll No
T I

M.A. /1

HISTORY— Courskt 15

(History of the Soviet Umion, 1921-1960)

Tume 3 hours

Maximum Marks . 75
gy 3 yud

gofE 75

(Write your Roll No on the 1op immediately
on receipi of this question paper )

(39 ¥99-93 & fHed & &9 feg 7w (i

i

. BT W AT ATFNF [y )

' Notn — Answers may be written either in English or i

) Hwndi, but the same medwum should be used
throughout the paper

fewuit — 35 73797 ¥ 3ot A W 153 Tt uwm
7 &ifag @F w9t 30 @ qreg e & g
FHET

Attempt any four questions
All guesuons carry equal marks

. &gl art 3941 3 3w ATy

G ¥ F 3§

1 To what extent was the Bolshevik hold on power
threatened by workers’ strikes, peasant isurgency and
the Kronstadt uprising at the end of the Civil War?
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2 Discuss the problems that complicated industrial
rccovery during the NEP
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3. Why were there tensions between thec peasant
commune ‘and the rural Soviet during the NEP?
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4 Assess the utility of the proposals advanced under the
title of Socialism 1n Onc Country an addressing Soviet
backwardness
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5 OQutlinc the ideas and institutions that underlay the
planmng process 1n the Soviet before the First Five
Year Plan
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6 Were there any alternatives io the pacc and manncr of
agricultural collectivisation as it dctually occurred”

oA 9fed T Tfesism ) ufa A 4t ¥ am
g fameg 2

7 Which socal groups suffered the most harm during the
Purges and the Terror until 1938 and why?
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8 Discuss the principal policies pursued by the Soviet
leadership during the Second World War, 194145
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